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I Continuation of seeking source for requirement of 9yn for ymxn's shaving
a  Challenge to attempt to infer »71¥n5 9yn from 1
i Earlier: the X9nj stated that you can't infer 911 from y713¥n, assuming that y712n must shave with a 9yn
ii ~ Then: we try to infer ym¥n from 07%/7°11 via mwn 13!
iii  Answer: split between n>nan (21'n for 1pr nnnwn only if done with 9yn) v. 8™ (even if done with other tool)
1  Earlier: follows 1327, who infer 9yn for y1x¥n from j1pt nnnwn
(a) Inference: vv.2-3 show liability for cutting beard of n»n3 via 9yn only
(i) And:v.1shows that nonetheless, a y71¥n 103 does so (1yn1)
(b) Counter: perhaps text validates all tools, but simply "permits" 9yn also?
(c) Rejection: if so, let the text omit 1pt (v. 1) and we'll know via 1”p that 9yn is ok:
(i) 177 if n, who violates via 7y, has it cut at the end; certainly y71¥n, who is performing a mxn, can
use any tool
(d) Additional rejection: based on 9™'s ruling re: n"» nmT nwY, he should not use 9yn to avoid unnecessary R?
2 Later: follows 8" who must learn 9yna y1xn m9s via vp
(a) Inference: YR (v. 1) -v.4 demonstrates liability for cutting head of 9’11 only via 7yn
(i) Alternatively: as above, perhaps it only "permits" 9yn —
(if) Rejection: as above
(b) Question: how do 1117 interpret Yw&1?
(i) Answer: to teach that the nwy of y71¥n nn%n trumps the W5 of 9'pn Ha (v. 3)
1. challenge: can't that be inferred from npr?
a.  Answer: the WY of 9'pn 1 includes even the entire head — which is trumped here
2. note: p1 is still needed to teach 7yn
(c) Question: what is R"'s source for n” nmT NWYWY?
(i) Answer: oYY >1o¥x (v. 5)
I  Analysis of mwn requiring 1yna m%a for all 3 (L% ,y1xn 1)
a  Inference: since here, the N7 n requires complete shaving (v. 6)->generally, 15133 121
i Challenge: this verse is in re: RnY N
ii  Objection: 7yna nnvn is learned from 700 9°11 > infer from there that if he leaves 2 hairs, invalid
iii  Related questions:
1 »ax if he shaved all but 2 (invalid), then more hair grew and he shaved those 2 — valid? (unanswered)
2 na7if he shaved all but 2 and then one fell out and he shaved the other?
(a) Answer: even though there's no hair here, there's also no m%» mxn
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